* %

Minusrechnen bis 12

Minusrechnen

Aufgabe 1 Aufgabe 2

T 4 -2 = T F -1 =
2. 10 - 8 = 2. 6 -5 =
3. 10 -8 = 3012 - 7 =
4.8 -2 = 4. 10 - 1 =
5 6 -5 = 5 12 - 11 =
611 -9 = 6. 9 - 5 =
7 9 -2 = 7o0012 - 8 =
8 8 -4 = 8 8 -8 =
9. 11 -6 = 9. 10 - 8 =
0 11 -9 = 0. 12 - 10 =
Aufgabe 3 Aufgabe 4

. 6 -5 = .10 -7 =
2.9 -8 = 2.6 -1 =
3. 5 - 4 = 3. 12 -5 =
4 - 4 = 400012 -6 =
5. 11- 2 = 5 9 -1 =
6.5 -2 = 6 9 -3 =
o012 - 9 = R A
8 10 - 1 = 8 3 -1 =
9. 12 - 11 = % 9 -3 =
0. 12 - 8 = 0. 6 -2 =
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* %

Minusrechnen bis 12 | ANTWORTEN

Minusrechnen

Aufgabe 1 Aufgabe 2

. 4 -2 = 2 T 7 -1 = 6
2. 10 - 8 = 2 2. 6 -5 = 1
3. 10 -8 = 2 3012 - F = 5
4 8 -2 = 6 410 - 1 = 9
5 6 -5 = 1 5 12 - 11 = 1
6 11 -9 = 2 69 - 5 = 4
7 9 -2 = 7 712 - 8 = 4
8 8 -4 = 4 8 8 - 8 = 0
9. 11 -6 = 5 9. 10 - 8 = 2
0. 11 -9 = 2 0. 12 - 10 = 2
Aufgabe 3 Aufgabe 4

. 6 -5 = 1 .10 -7 = 3
2.9 - 8 = 1 2.6 -1 = 5
3. 5 - 4 = 1 3. 12 -5 = 7
4 7 - 4 = 3 412 -6 = 6
5 1 - 2 = 9 5 9 -1 = 8
65 - 2 = 3 6.9 -3 = 6
o012 -9 = 3 oo F -1 = 6
g 10 - 1 = 9 8 3 -1 = 2
9. 12 - 11 = 1 9 9 -3 = 6
0. 12 - 8 = 4 0. 6 -2 = 4
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